#58295 MINI COOPER

PART # DESCRIPTION
1825247 Body
0005797 A Parts (A1-A5)
50736 TLO1 B Parts (Upright) (B1-B14)
50793 MO03 C Parts (Sus. Arm) (C1-C22) (2 pcs.)
0005798 D Parts (D1-D4)
50794 MO03 G Parts (Gear)
Diff. Cover x1 Spur Gear x1
Diff. Spur Gear x1  Counter Gear x1
Pinion Stopper x1
9005701 H Parts (H1-H4)
50972 Mini Cooper Wheels (4 pcs.)
50683 *1 M-Chassis 60D Radial Tires (2 pcs.)
53255 M-Chassis 60D Inner Sponge, Hard (4 pcs.)
9415451 Metal Parts Bag A
9415676 Metal Parts Bag B
9415453 Metal Parts Bag C
9415521 Metal Parts Bag D
9805620 3x25mm Screw (MA2 x2)
50582 3x14mm Step Screw (MA3 x5)
50577 3x10mm Tapping Screw (MA4 x10)
50573 2x8mm Tapping Screw (MA5 x10)
50576 3mm Grub Screw (MA6 x10)
50038 Tool Set (Box Wrench, Hex Wrench, MA6 x4)
9405830 *1  Screw Pin Bag (MA7 & MA8, 2 pcs. each...etc.)
50602 Diff. Bevel Gear Set (MA9, MA20-MA22)
0555015 1150 Plastic Bearing (MA10 x10)
9805240 3mm O-ring (Black) (MA12 x7...etc.)
9805503 Drive Shaft (MA15 x2)
9805825 5mm Ball Connector (Long, MA16 x5)
9805368 Gear Box Joint (MA17 & MA18)
50823 TG10 Wheel Axle (Front) (MA19 x2)
50356 *2 20T, 21T AV Pinion Gear Set (MA23...etc.)
4305125 Motor Plate (MA24)
9805567 3x23mm Screw (MB1 x10)
8000072 8x60mm Rubber Tubing (MB2)
50583 3x15mm Tapping Screw (MC1 x10)
50575 2.6x10mm Tapping Screw (MC2 x5)
50197 Snap Pin Set (MC3 x10, MC4 x5)
2500029 *1  3x32mm Threaded Shaft (MC5 x1)
50586 3mm Washer (MC6 x15)
9805502-D  Rear Wheel Axle (MC7 x2)
9805557 4mm Flange Lock Nut (MC8 x4)
50594 2x10mm Shaft (MC9 x10)
50171 Heat Resistant Double-Sided Tape
50595 Nylon Band w/Metal Hook (10 pcs.)
87025 Ceramic Grease
9415450 Speed Controller Bag
Instructions x1 Resistor x1
Speed Controller x1 Speed Control Rod x1
Switch Lubricant x1 3mm Washer x4
3x10mm Tapping Screw x11
7435044 Motor
6095003 Antenna Pipe (30cm)
9495393 Sticker & Masking Seal
1050152 Instructions

*1 Requires 2 sets for one car.

Scale:1:10
Category: Electric
Chassis Type: M03-L

R/C SPARE PARTS & HOP-UP OPTIONS
50354 *2 16T, 17T AV Pinion Gear Set
50355 *2 18T, 19T AV Pinion Gear Set

50519 C.V.A. Mini Shock Unit Set Il
50632 M-Chassis Drive Shaft & Cup Set
50684 M-Chassis 60D M-Grip Radial Tires (2 pcs.)
50686 M-Chassis 60D Inner Sponge Set (4 pcs.)
50746 C.V.A. Super Mini Shock Unit Set
53008 1150 Sealed Ball Bearing Set (4 pcs.)
53017 3x15mm Titanium Tapping Screw (10 pcs.)
53024 4mm Aluminum Flange Lock Nut (10 pcs.)
53029 1150 Sealed Ball Bearing Set (2 pcs.)
53030 850 Sealed Ball Bearing Set (4 pcs.)
53056 Pin Type Wheel Adapter
53068 RS-540 Sport-Tuned Motor
53070 Manta Ray Ball Diff. Set
53095 3x10mm Titanium Tapping Screw (10 pcs.)
53132-D R/C Fluorescent Color Antenna Pipes (4 pcs.)
53141 4WD Touring & Rally Car Lightweight King Pins
53155 Low Friction Aluminum Damper Set (2 pcs.)
(4WD/FWD Touring & Rally Car)
53159 4mm Anodized Aluminum Flange Lock Nuts (Blue)
53160 4mm Anodized Aluminum Flange Lock Nuts (Red)
53161 4mm Anodized Aluminum Flange Lock Nuts (Gold)
53162 4mm Anodized Aluminum Flange Lock Nuts (Black)
53163 On-Road Tuned Spring Set
(4WD/FWD Touring & Rally Car)
53205 M-Chassis Universal Shaft Set
53218 1/10 Touring Car Hard Joint Cup Set (for Gear Diff.)
53254 M-Chassis 60D Super Grip Radial Tires (2 pcs.)
53263 Dyna-Run Super Touring Motor
53267 TAO3 Ball Differential
53272 Dyna-Run Racing Stock Motor
53301 TLO1 Stainless Steel Suspension Shaft Set
53333 Touring Car Tuned Spring (Short)
53339 CA Cement (for Rubber Tires)
53340 M-Chassis 60D Reinforced Tires Type-A (2 pcs.)
53341 1/10 Mini Cooper Reinforced Wheels (2 pcs.)
53343 MO03 Front & Rear Stabilizer Set
53344 MO03 Aluminum Heat Sink
53345 TLO1/MO03 Toe-in Rear Upright
53346 TLO1/M03 Quick Release Battery Holder
53347 3x3mm Spring Set Screw (10 pcs.)
53348 MO03 Ball Bearing Set
53351 Aluminum Reinforced Tape
53390 MO03/M04 Hollow Carbon Gear Shaft
53439 Anti-Wear Grease
53448 4mm Hard Lock-Nut & Spacer Set
53469 Protection Seal (Chassis/Body)
53523 Aluminum Front Upright Set (M03, M04)

*2 Only 16T, 18T and 20T can be used.

Tamiya America, Inc.

2 Orion, Aliso Viejo, CA 92656

(949) 362-2240 Fax: (949) 362-2250
Consumers: (800) TAMIYA-A

TAMIYA Dealers: (800) 5-TAMIYA





